BORILLA oPORTS

Robust Sit-Up Bench (10000771)




Bolt M8%60

 — )
2X

Washer @10

©

8x

Sy

Bolt MI10%70

§ — )
4x

Washer @8

©

2X

Spanner

2X

SHOORILLA SPORTS

Nut M10
”.
)
4x




“HUORILLA oPORTS

% )
)
% ) ‘ =
=
/150% ‘/ | }'

Maximum load 150KG




 — )

Bolt M10%70 4PCS

© @

Washer @10 8PCS Nut M10 4PCS




 — ]

Bolt M8*60 2PCS

© N

Washer @8 2PCS Foam 4PCS




